MAT 1505 (Dr. Fuentes) Worksheet 3 - Sections 5.5 & 6.1

Section 5.5: The Substitution Rule SOLUTIONS
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: i
: T b |
(a) / cos™(8) sin(0) d@, (b) / - \urni_: ) 3% (c) / Y 2 1
X 2+ cos4(x)

(a) Let w= cos (o). Then du= —sin(8) d6
U
—du= sin(B) db.
Then we Can rewrle

3 . 7 :.——/—Co_sq ]
fCo.fg[@) sin(8) do= fag('d“'): a; ja du = 7 b u . +9

. - = 2¢o in(x) &~ TRIGoNOMETRIC
(b) HINT 5m{2><> ZCI(X)JM(X DOUBLE-ANGLE FORMULA.
Then
: : [
j‘ sin (2x) 0 __:JZwJ(X).rzm(x)dx & _f = i
2 + cos(x) 2 + Cos(x)
/.67L M;Z%—COSZ(X)- :—/n(/ul>+'c

du =-2 cos(x) sin(x)dx
s ~U’u :"/n//2+60.sz/x)/)+ C
e 7 cos(x) sinlx) dx

( AREFUL! :
i m:(“ui*xlztz Vx +VZ

1



Problem 2. Evaluate the definite integral.
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Section 6.1: Areas Between Curves

Problem 3. Sketch the region enclosed by the given curves. Decide whether to integrate with respect
to X or y and find the area of the region.
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